Mathematical Analysis and its Contemporary Applications Volume 3, Issue 1, 2021, 48–58 doi: 10.30495/MACA.2021.1924046.1001

Stability of quartic functional equation in paranormed spaces

Subramani Karthikeyan^{*1}, Choonkil Park², and John Michael Rassias³

ABSTRACT. In this paper, we prove the Ulam-Hyers stability of the following quartic functional equation

$$\begin{aligned} f\left(\frac{x+y-2z}{2}\right) + f\left(\frac{y+z-2x}{2}\right) + f\left(\frac{z+x-2y}{2}\right) \\ &= \frac{9}{16}\left(f(x-y) + f(y-z) + f(z-x)\right) \end{aligned}$$

in paranormed spaces using both direct and fixed point methods.

1. Introduction

The concept of the stability of a functional equation arises when one replaces a functional equation by an inequality which acts as a perturbation of the equation. In 1940, the first stability problem concerning group homomorphisms was raised by Ulam [**31**] and affirmatively solved by Hyers [**10**] in 1941. Further the result of Hyers was generalized by Aoki [**1**] in 1950 for approximate additive mappings and by Rassias [**27**] for approximate linear mappings by allowing the normed difference Cauchy equation ||f(x + y) - f(x) - f(y)|| to be controlled by $\epsilon (||x||^p + ||y||^p)$. Rassias [**25**] followed the innovative approach of Rassias Theorem in which he replaced the factor $||x||^p + ||y||^p$ by $||x||^p ||y||^q$ with $p + q \neq 1$. In 1994, a generalization of Rassias Theorem was obtained by Găvruţa [**9**], who replaced $\epsilon (||x||^p + ||y||^p)$ by a general control function $\phi(x, y)$. In 2008, a special case of Găvruţa's Theorem for the unbounded Cauchy difference was obtained by Ravi *et al.* [**28**] by considering the summation of both the sum and the product of two *p*-norms in the spirit of Rassias approach.

The quartic functional equation was first introduced by Rassias [26], who solved its Ulam stability problem. Later, Lee et al. [14] remodified Rassias' quartic

²⁰¹⁰ Mathematics Subject Classification. Primary: 39B52; Secondary: 39B82.

Key words and phrases. paranormed space; quartic functional equation; Ulam-Hyers stability; fixed point method

^{*} Corresponding author.

functional equation and obtained its general solution. Park [23] proved the stability of quartic functional equation in orthogonality spaces.

The stability problems of various quartic functional equations in several spaces such as intuitionistic fuzzy normed spaces, random normed spaces, non-Archimedean fuzzy normed spaces, Banach spaces, orthogonal spaces and many other spaces have been broadly investigated by a number of mathematicians (see [3, 4, 12, 15, 17, 20, 21, 22]).

Recently, Vijayakumar, Karthikeyan, Rassias and Baskaran [32] discussed the solution in vector spaces and proved the Ulam-Hyers stability of the quartic functional equation

$$f\left(\frac{x+y}{2}-z\right) + f\left(\frac{y+z}{2}-x\right) + f\left(\frac{z+x}{2}-y\right) = \frac{9}{16}\left(f(x-y) + f(y-z) + f(z-x)\right)$$
(1)

originating from the sum of the medians of a triangle in fuzzy normed space by using both direct and fixed point methods.

In this paper, we prove the Ulam-Hyers stability of the quartic functional equation (1) in paranormed spaces using both direct and fixed point methods.

2. Basic concepts on paranormed spaces

The concept of statistical convergence for sequences of real numbers was introduced by Fast [7] and Steinhaus [30] independently and since then several generalizations and applications of this notion have been investigated by various authors (see [8, 11, 18, 19, 29]). This notion was defined in normed spaces by Kolk [13].

We recall some basic facts concerning Fréchet spaces.

Definition 2.1. [33] Let X be a vector space. A paramorm $P: X \to [0, \infty)$ is a function on X such that

- (P1) P(0) = 0;
- (P2) P(-x) = P(x);
- (P3) $P(x+y) \le P(x) + P(y)$ (triangle inequality);
- (P4) if $\{t_n\}$ is a sequence of scalars with $t_n \to t$ and $\{x_n\} \subset X$ with $P(x_n x) \to 0$, then $P(t_n \ x_n tx) \to 0$ (continuity of multiplication).

The pair (X, P) is called a *paranormed space* if P is a *paranorm* on X.

Definition 2.2. [33] The paranorm is called total if, in addition, we have (P5) P(x) = 0 implies x = 0.

Definition 2.3. [33] A Fréchet space is a total and complete paranormed space.

3. Stability results: Hyers' direct method

In this section, we investigate the Ulam-Hyers stability of the functional equation (1) in paranormed spaces using direct method.

Throughout this section, let (U, P) be a Fréchet space and $(V, \|\cdot\|)$ be a Banach space.

For the convenience, we define a mapping $F: U^3 \to V$ by

$$F(x, y, z) = f\left(\frac{x+y}{2} - z\right) + f\left(\frac{y+z}{2} - x\right) + f\left(\frac{z+x}{2} - y\right) - \frac{9}{16}\left(f(x-y) + f(y-z) + f(z-x)\right)$$

for all $x, y, z \in U$.

Theorem 3.1. Let $j \in \{-1, 1\}$ be fixed and $\alpha : U^3 \to [0, \infty)$ be a function with the condition

$$\lim_{n \to \infty} \frac{1}{2^{4nj}} \alpha \left(2^{nj} x, 2^{nj} y, 2^{nj} z \right) = 0$$
(2)

for all $x, y, z \in U$. Suppose that an even mapping $f : U^3 \to V$ satisfies the following inequality

$$P(F(x, y, z)) \le \alpha(x, y, z) \tag{3}$$

for all $x, y, z \in U$. Then there is a unique quartic mapping $\mathcal{Q}: U^3 \to V$ such that

$$P(f(x) - \mathcal{Q}(x)) \le \sum_{k=\frac{1-j}{2}}^{\infty} \frac{1}{2^{4(k+1)j}} \alpha \left(2^{(k+1)j} x, 2^{(k+1)j} x, 0 \right)$$
(4)

for all $x \in U$. The mapping $\mathcal{Q}(x)$ is defined by

$$P\left(\lim_{n \to \infty} \frac{f\left(2^{nj}x\right)}{2^{4nj}} - Q(x)\right) \to 0 \tag{5}$$

for all $x \in U$.

PROOF. Assume that j = 1. Replacing (x, y, z) by (x, x, 0) in (3), we get

$$P\left(2^4 f\left(\frac{x}{2}\right) - f(x)\right) \le \alpha(x, x, 0) \tag{6}$$

for all $x \in U$ and all r > 0. Replacing x by 2x and divided by 2^4 in (6), we obtain

$$P\left(f(x) - \frac{f(2x)}{2^4}\right) \le \frac{1}{2^4}\alpha(2x, 2x, 0)$$
(7)

for all $x \in U$ and all r > 0. Replacing x by 2x and divided by 2^4 in (7), we obtain

$$P\left(\frac{f(2x)}{2^4} - \frac{f(4x)}{2^8}\right) \le \frac{1}{2^8}\alpha(4x, 4x, 0)$$
(8)

for all $x \in U$. By (7) and (8), we obtain

$$P\left(f\left(x\right) - \frac{f\left(4x\right)}{2^{8}}\right) \leq \left(P\left(f\left(x\right) - \frac{f(2x)}{2^{4}}\right) + P\left(\frac{f(2x)}{2^{4}} - \frac{f\left(4x\right)}{2^{8}}\right)\right)$$
$$\leq \frac{1}{2^{4}}\alpha(2x, 2x, 0) + \frac{1}{2^{8}}\alpha\left(4x, 4x, 0\right) \tag{9}$$

for all $x \in U$. Using induction on positive integers n, we get

$$P\left(f(x) - \frac{f(2^{n}x)}{2^{4n}}\right) \leq \sum_{k=0}^{n-1} \frac{1}{2^{4(k+1)}} \alpha\left(2^{k+1}x, 2^{k+1}x, 0\right)$$

$$\leq \sum_{k=0}^{\infty} \frac{1}{2^{4(k+1)}} \alpha\left(2^{k+1}x, 2^{k+1}x, 0\right)$$
(10)

for all $x \in U$. In order to prove the convergence of the sequence $\left\{\frac{f(2^n x)}{2^{4n}}\right\}$, replacing x by $2^m x$ and divided by 2^{4m} in (10), for any m, n > 0, we simplify

$$P\left(\frac{f(2^m x)}{2^{4m}} - \frac{f(2^{m+n}x)}{2^{4(m+n)}}\right) = \frac{1}{2^{4m}}P\left(f(2^m x) - \frac{f(2^{m+n}x)}{2^{4n}}\right)$$
$$\leq \sum_{k=0}^{\infty} \frac{1}{2^{4(k+m+1)}}\alpha\left(2^{k+m+1}x, 2^{k+m+1}x, 0\right)$$

for all $x \in U$ and all $m, n \ge 0$. This shows that the sequence $\left\{\frac{f(2^n x)}{2^{4n}}\right\}$ is a Cauchy sequence. Since V is complete, there exists a mapping $\mathcal{Q}: U \to V$ by

$$P\left(\lim_{n\to\infty}\frac{f\left(2^nx\right)}{2^{4n}}-\mathcal{Q}(x)\right)\to 0,$$

for all $x \in U$. By continuity of multiplication, we have

$$P\left(\lim_{n\to\infty}\frac{t_n f\left(2^n x\right)}{2^{4n}} - t\mathcal{Q}(x)\right) \to 0.$$

Letting $n \to \infty$ in (10), we see that (4) holds, for all $x \in U$. To show that Q satisfies (1), replacing (x, y, z) by $(2^n x, 2^n y, 2^n z)$ and divided by 2^{4n} in (3), we get

$$\frac{1}{2^{4n}} P\left(F\left(2^n x, 2^n y, 2^n z\right)\right) \le \frac{1}{2^{4n}} \alpha\left(2^n x, 2^n y, 2^n z\right),$$

for all $x, y, z \in U$. Letting $n \to \infty$ in the above inequality and using the definition of $\mathcal{Q}(x)$, we see that

$$P\left(\mathcal{Q}\left(\frac{x+y-2z}{2}\right) + \mathcal{Q}\left(\frac{y+z-2x}{2}\right) + \mathcal{Q}\left(\frac{z+x-2y}{2}\right) - \frac{9}{16}\left(\mathcal{Q}(x-y) + \mathcal{Q}(y-z) + \mathcal{Q}(z-x)\right)\right) = 0, \quad (11)$$

for all $x, y, z \in U$. Using condition P(5) in (11), we get

$$\mathcal{Q}\left(\frac{x+y-2z}{2}\right) + \mathcal{Q}\left(\frac{y+z-2x}{2}\right) + \mathcal{Q}\left(\frac{z+x-2y}{2}\right)$$
$$= \frac{9}{16}\left(\mathcal{Q}(x-y) + \mathcal{Q}(y-z) + \mathcal{Q}(z-x)\right)$$

for all $x, y, z \in U$. Hence \mathcal{Q} satisfies (1), for all $x, y, z \in U$. In order to prove that $\mathcal{Q}(x)$ is unique, let $\mathcal{Q}'(x)$ be another quartic functional equation satisfying (1) and (4). Then

$$P(\mathcal{Q}(x) - \mathcal{Q}'(x)) = \frac{1}{2^{4n}} \left\{ P\left(\mathcal{Q}\left(2^{n}x\right) - \mathcal{Q}'\left(2^{n}x\right)\right) \right\}$$

$$\leq \frac{1}{2^{4n}} \left\{ P\left(\mathcal{Q}\left(2^{n}x\right) - f\left(2^{n}x\right)\right) + P\left(f\left(2^{n}x\right) - \mathcal{Q}'\left(2^{n}x\right)\right) \right\}$$

$$\leq \sum_{k=0}^{\infty} \frac{1}{2^{4(k+n+1)}} \alpha \left(2^{k+n+1}x, 2^{k+n+1}x, 0\right) \to 0 \text{ as } n \to \infty$$

for all $x \in U$. Thus $P(\mathcal{Q}(x) - \mathcal{Q}'(x)) = 0$, for all $x \in U$. Hence we have $\mathcal{Q}(x) = \mathcal{Q}'(x)$. So $\mathcal{Q}(x)$ is unique. Thus the mapping $\mathcal{Q} : U^3 \to V$ is a unique quartic mapping.

For j = -1, we can prove the result by a similar method. This completes the proof.

From Theorem 3.1, we obtain the following corollary concerning the Ulam-Hyers stability for the functional equation (1).

Corollary 3.2. Let $F: U^3 \to V$ be a mapping and assume that there exist real numbers λ and s such that

$$P(F(x, y, z)) \leq \begin{cases} \lambda, & s \neq 4 \\ \lambda \{P(x)^{s} + P(y)^{s} + P(z)^{s}\}, & s \neq 4 \\ \lambda \{P(x)^{s} P(y)^{s} P(z)^{s} + \{P(x)^{3s} + P(y)^{3s} + P(w)^{3s}\}\}, & s \neq \frac{4}{3} \end{cases}$$
(12)

for all $x, y, z \in U$. Then there exists a unique quartic mapping $\mathcal{Q} : U^3 \to V$ such that

$$P(f(x) - Q(x)) \leq \begin{cases} \frac{\lambda}{|15|} \\ \frac{2\lambda P(x)^{s}}{|2^{4} - 2^{s}|} \\ \frac{2\lambda P(x)^{3s}}{|2^{4} - 2^{3s}|} \end{cases}$$
(13)

for all $x \in U$.

4. Alternative stability results: Fixed point method

In this section, we prove the Ulam-Hyers stability of the functional equation (1) in paranormed spaces by using the fixed point method.

Now, we will recall the fundamental results in fixed point theory.

Theorem 4.1. [16] Suppose that for a complete generalized metric space (X, d)and a strictly contractive mapping $T : X \to X$ with Lipschitz constant L. Then, for each given element $x \in X$, either

(B1)
$$d(T^n x, T^{n+1} x) = \infty \quad \forall \ n \ge 0,$$

(B2) there exists a natural number n_0 such that:

(i) $d(T^n x, T^{n+1} x) < \infty$, for all $n \ge n_0$;

(ii) The sequence $(T^n x)$ is convergent to a fixed point y^* of T;

(iii) y^* is the unique fixed point of T in the set $Y = \{y \in X : d(T^{n_0}x, y) < \infty\}$;

 $(iv) \ d(y^*, y) \le \frac{1}{1-L} \ d(y, Ty), \text{ for all } y \in Y.$

Many researchers have applied the fixed point alternative method to prove the Ulam-Hyers stability of functional equations (see [2, 5, 6, 24]).

Theorem 4.2. Let $F: U^3 \to V$ be a mapping for which there exists a function $\alpha: U^3 \to [0, \infty)$ with the condition

$$\lim_{n \to \infty} \frac{1}{\mu_i^{4n}} \alpha \left(\mu_i^n x, \mu_i^n y, \mu_i^n z \right) = 0 \tag{14}$$

where $\mu_0 = \frac{1}{2}$ and $\mu_1 = 2$ such that the functional inequality

$$P(F(x, y, z)) \le \alpha(x, y, z) \tag{15}$$

for all $x, y, z \in U$. If there exists L = L(i) < 1 such that the function

$$x \to \gamma(x) = \alpha \left(2x, 2x, 0 \right)$$

has the property

$$\gamma(x) \le L \ \frac{\gamma(\mu_i x)}{\mu_i^4},\tag{16}$$

then there exists a unique quartic mapping $\mathcal{Q}: U^3 \to V$ satisfying (1) and

$$P\left(f(x) - \mathcal{Q}(x)\right) \le \frac{L^{1-i}}{1-L}\gamma(x) \tag{17}$$

for all $x \in U$.

PROOF. Consider the set $\Omega = \{p/p : U^3 \to V, p(0,0) = 0\}$ and introduce the generalized metric on Ω , $d(p,q) = d_{\gamma}(p,q) = \inf\{K \in (0,\infty) : P(p(x) - q(x)) \leq K\gamma(x), x \in U\}$. It is easy to see that (Ω, d) is complete.

Define $T: \Omega^3 \to \Omega$ by $Tp(x, x) = \frac{1}{\mu_i^4} p(\mu_i x)$, for all $x \in U$. Now $p, q \in \Omega$ imply $d(Tp, Tq) \leq Ld(p, q)$, for all $p, q \in \Omega$, i.e., T is a strictly contractive mapping on Ω with Lipschitz constant L.

Replacing (x, y, z) by (x, x, 0) in (15), implies that

$$P\left(2^{4}f\left(\frac{x}{2}\right) - f(x)\right) \le \alpha(x, x, 0) \tag{18}$$

for all $x \in U$. By using (16) for the case i = 1, it reduces to

$$P\left(2^4 f\left(\frac{x}{2}\right) - f(x)\right) \le \alpha(x, x, 0) \le \gamma(x)$$

for all $x \in U$, i.e.,

$$d_{\gamma}(Tf, f) \le 1 \Rightarrow d(Tf, f) \le L^0 < \infty.$$

Again replacing x = 2x in (18), implies that

$$P\left(2^{4}f\left(x\right) - f\left(\frac{x}{2}\right)\right) \le \alpha\left(2x, 2x, 0\right).$$
(19)

By using (16) for the case i = 0, it reduces to

$$P\left(f(x) - \frac{1}{2^4}f\left(\frac{x}{2}\right)\right) \le \frac{1}{2^4}\alpha\left(2x, 2x, 0\right) \le L\gamma(x),$$

for all $x \in U$, i.e.,

$$d_{\gamma}(f,Tf) \le L \Rightarrow d(f,Tf) \le L^1 < \infty.$$

In both cases, we obtain that $d(g, Tg) \leq L^{1-i}$. Therefore (A1) holds. From (A2), it follows that there exists a fixed point \mathcal{Q} of T in Ω such that

$$P\left(\lim_{n\to\infty}\frac{1}{\mu_i^{4n}}\left(f\left(\mu_i^{n+1}x\right) - f\left(\mu_i^nx\right)\right) - \mathcal{Q}(x)\right) \to 0,\tag{20}$$

for all $x \in U$. To prove $\mathcal{Q}: U^3 \to V$ is quartic. Replacing (x, y, z) by $(\mu_i^n x, \mu_i^n y, \mu_i^n z)$ in (15) and divided by μ_i^{4n} , it follows from (14) that

$$P\left(\mathcal{Q}(x,y,z)\right) = \lim_{n \to \infty} P\left(\frac{1}{\mu_i^{4n}} F\left(\mu_i^n x, \mu_i^n y, \mu_i^n z\right)\right) \le \lim_{n \to \infty} \frac{1}{\mu_i^{4n}} \alpha\left(\mu_i^n x, \mu_i^n y, \mu_i^n z\right) = 0,$$

for all $x, y, z \in U$, i.e., \mathcal{Q} satisfies the functional equation (1).

By (A3), \mathcal{Q} is the unique fixed point of T in the set $\Delta = \{\mathcal{Q} \in \Omega : d(f, \mathcal{Q}) < \infty\}, \mathcal{Q}$ is the unique mapping such that $P(f(x) - \mathcal{Q}(x)) \leq K\gamma(x)$, for all $x \in U$ and K > 0. Finally by (A4), we obtain $d(f, \mathcal{Q}) \leq \frac{1}{1-L}d(f, Tf)$ which implies $d(f, \mathcal{Q}) \leq \frac{L^{1-i}}{1-L}$ which yields $P(f(x) - \mathcal{Q}(x)) \leq \frac{L^{1-i}}{1-L}\gamma(x)$. This completes the proof of the theorem.

The following corollary is an immediate consequence of Theorem 4.2 concerning the stability of (1).

Corollary 4.3. Let $F : U^3 \to V$ be a mapping and there are real numbers λ and s such that the inequality (12) for all $x, y, z \in U$, then there is a unique quartic function $\mathcal{Q} : U^3 \to V$ such that the inequality (13) holds, for all $x \in U$.

PROOF. Set

$$\alpha(x, y, z) = \begin{cases} \lambda \\ \lambda \{P(x)^s + P(y)^s + P(z)^s\} \\ \lambda \{P(x)^s P(y)^s P(z)^s + \{P(x)^{3s} + P(y)^{3s} + P(z)^{3s}\} \} \end{cases}$$

for all $x, y, z \in U$. Now

$$\frac{1}{\mu_i^{4n}} \alpha \left(\mu_i^n x, \mu_i^n y, \mu_i^n z\right) = \begin{cases} \frac{\lambda}{\mu_i^{4n}}, \\ \frac{\lambda}{\mu_i^{4n}} \left\{ P\left(\mu_i^n x\right)^s + P\left(\mu_i^n y\right)^s + P\left(\mu_i^n z\right)^s \right\} \\ \frac{\lambda}{\mu_i^{4n}} \left\{ P\left(\mu_i^n x\right)^s P\left(\mu_i^n y\right)^s P\left(\mu_i^n z\right)^s + P\left(\mu_i^n x\right)^{3s} + P\left(\mu_i^n y\right)^{3s} \\ + P\left(\mu_i^n z\right)^{3s} \right\} \\ = \begin{cases} \rightarrow 0 \text{ as } n \rightarrow \infty \\ \rightarrow 0 \text{ as } n \rightarrow \infty \\ \rightarrow 0 \text{ as } n \rightarrow \infty. \end{cases}$$

Thus (14) holds. But we have $\gamma(x) = \alpha(2x, 2x, 0)$ has the property $\gamma(x) \leq L \cdot \frac{1}{\mu_i^4} \gamma(\mu_i x)$, for all $x \in U$. Hence

$$\gamma(x) = \alpha \left(2x, 2x, 0\right) = \begin{cases} \lambda, \\ 2\lambda 2^s P(x)^s, \\ 2\lambda 2^{3s} P(x)^{3s}. \end{cases}$$

Now,

$$\frac{1}{\mu_i^4}\gamma(\mu_i x) = \begin{cases} \mu_i^{-4}\lambda \\ 2\mu_i^{(s-4)}\lambda P(x)^s \\ 2\mu_i^{(3s-4)}\lambda P(x)^{3s} \end{cases} = \begin{cases} \mu_i^{-4}\gamma(x) \\ \frac{\mu_i^{s-4}}{2^s}\gamma(x) \\ \frac{\mu_i^{3s-4}}{2^{3s}}\gamma(x) \end{cases}$$

for all $x \in U$. Hence, the inequality (16) holds. Now from (17), we prove the following cases.

Case 1: $L = 2^{-4}$ for s = 0 if i = 0

$$P(f(x) - \mathcal{Q}(x)) \le P\left(\frac{\lambda}{15}\right).$$

Case 2: $L = 2^4$ for s = 0 if i = 1

$$P(f(x) - \mathcal{Q}(x)) \le P\left(\frac{1}{1 - 2^4}\gamma(x)\right) \le P\left(\frac{\lambda}{-15}\right).$$

Case 3: $L = 2^{s-4}$ for s < 4 if i = 0

$$P(f(x) - \mathcal{Q}(x)) \le P\left(\frac{(2^{s-4})^{1-0}}{1-2^{s-4}}\right)\gamma(x) \le \frac{2\lambda P(x)^s}{2^4 - 2^s}.$$

Case 4: $L = 2^{4-s}$ for s > 4 if i = 1

$$P(f(x) - \mathcal{Q}(x)) \le P\left(\frac{(2^{4-s})^0}{1 - 2^{4-s}}\right)\gamma(x) \le \frac{2\lambda P(x)^s}{2^s - 2^4}.$$

Case 5: $L = 2^{3s-4}$ for $s < \frac{4}{3}$ if i = 0

$$P(f(x) - \mathcal{Q}(x)) \le P\left(\frac{(2^{3s-4})^{1-0}}{1-2^{3s-4}}\right)\gamma(x) \le \frac{2\lambda P(x)^{3s}}{2^4 - 2^{3s}}$$

Case 6: $L = 2^{4-3s}$ for $s > \frac{4}{3}$ if i = 1

$$P(f(x) - \mathcal{Q}(x)) \le P\left(\frac{(2^{4-3s})^0}{1 - 2^{4-3s}}\right)\gamma(x) \le \frac{2\lambda P(x)^{3s}}{2^{3s} - 2^4}.$$

5. Conclusion

In this article, we have obtained the stability results and alternative stability results of quartic functional equation in paranormed spaces. Also when considering the stability results of the previously published paper [32] and the stability results of this paper, the mixed stability results are zero by the variables used here.

Acknowledgment

The authors would like to thank the referee for a valuable suggestions regarding a previous version of this paper.

References

- T. Aoki, On the stability of the linear transformation in Banach spaces, J. Math. Soc. Japan, 2 (1950), 64-66.
- [2] G. Asgari, Y. Cho, Y. Lee and M. Eshaghi Gordji, Fixed points and stability of functional equations in fuzzy ternary Banach algebras, J. Inequal. Appl., 2013 (2013), Paper No. 166. http://dx.doi.org/10.1186/1029-242X-2013-166
- [3] H. Azadi Kenary, Direct method and approximation of the reciprocal difference functional equation invarious normed spaces, Ann. Alexandru. Ioan. Cuza. Uni.-Math., DOI: 10.1515/aicu-2015-0002.
- [4] H. Azadi Kenary and Th.M. Rassias, Non-Archimedean Hyers-Ulam-Rassias approximation of the partitioned functional equations, Appl. Comput. Math., 12(1) (2013), 76-90.
- [5] L. Cădariu, Fixed points in generalized metric space and the stability of a quartic functional equation, Bull. Stiint. Univ. Politeh. Timis. Ser. Mat. Fiz., 50 (64) (2005), 25-34.

- [6] M. Eshaghi Gordji, H. Khodaei and Th. M. Rassias, Fixed points and generalized stability for quadratic and quartic mappings in C^{*}-algebras, J. Fixed Point Theory Appl., 17 (2015), 703-715.
- [7] H. Fast, Sur la convergence statistique, Colloq. Math., 2 (1951), 241-244.
- [8] J. A. Fridy, On statistical convergence, Anal., 5 (1985), 301-313.
- P. Găvruţa, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl., 184 (1994), 431-436.
- [10] D. H. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci., 27 (1941), 222-224.
- S. Karakus, Statistical convergence on probabilistic normed spaces, Math. Commun. 12 (2007), 11-23.
- M. Khanehgir, Stability of the Jensen's functional equation in multi-fuzzy normed spaces, Iran. J. Fuzzy Syst., 14(3) (2017), 105-119.
- [13] E. Kolk, The statistical convergence in Banach spaces, Tartu Ul Toime., 928 (1991), 41-52.
- [14] S. Lee, S. Im and I. Hwang, Quartic functional equations, J. Math. Anal. Appl., 307 (2005), 387-394.
- [15] M. Madadian, A. Ebadian, M. Eshaghi Gordji, H. Azadi Kenary, Approximate homomorphisms and derivations on random Banach algebras, J. Ineq. Appl., 2012, 2012:157
- [16] B. Margolis and J. B. Diaz, A fixed point theorem of the alternative for contractions on a generalized complete metric space, Bull. Amer. Math. Soc., 74 (1968), 305-309.
- [17] D. Miheţ, R. Saadati and S. M. Vaezpour, The stability of the quartic functional equation in random normed spaces, Acta Appl. Math., 110 (2010), 797-803.
- [18] M. Mursaleen, λ -statistical convergence, Math. Slovaca, **50** (2000), 111-115.
- [19] M. Mursaleen and S. A. Mohiuddine, On lacunary statistical convergence with respect to the intuitionistic fuzzy normed space, J. Comput. Anal. Math. 233 (2009), 142-149.
- [20] A. Najati, On the stability of a quartic functional equation, J. Math. Anal. Appl., 340 (2008), 569-574.
- [21] M. Nazarianpoor, J. M. Rassias and Gh. Sadeghi, Solution and stability of quattuorvigintic functional equation in intuitionistic fuzzy normed spaces, Iran. J. Fuzzy Syst., 15(4) (2018), 13-30.
- [22] A. Niazi Motlagh, The generalized Hyers-Ulam stability of derivations in non-Archimedean Banach algebras, Math. Anal. Cont. Appl., 2 (2020), 17-22.
- [23] C. Park, On the stability of the orthogonally quartic functional equation, Bull. Iran. Math. Soc., 31 (2005), 63-70.
- [24] V. Radu, The fixed point alternative and the stability of functional equations, in: Seminar on Fixed Point Theory Cluj Napoca, Vol. IV, 2003.
- [25] J. M. Rassias, On approximation of approximately linear mappings by linear mappings, Bull. Sci. Math., 108 (1984), 445-446.
- [26] J. M. Rassias, Solution of the Ulam stability problem for quartic mappings, Glas. Mat. Ser. III, 34 (54) (1999), 243-252.
- [27] Th. M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc., 72 (1978), 297-300.
- [28] K. Ravi, M. Arunkumar and J. M. Rassias, Ulam stability for the orthogonally general Euler-Lagrange type functional equation, Int. J. Math. Stat., 3 (2008), A08, 36-46.
- [29] T. Salat, On the statistically convergent sequences of real numbers, Math. Slovaca, 30 (1980), 139-150.

- [30] H. Steinhaus, Sur la convergence ordinaire et la convergence asymptotique, Colloq. Math., 2 (1951), 73-34.
- [31] S. M. Ulam, Problems in modern mathematics, Science Editions, John Wiley & Sons, Inc., New York, 1964.
- [32] S. Vijayakumar, S. Karthikeyan, J. M. Rassias and B. Baskaran, A quartic functional equation originating from the sum of the medians of a triangle in fuzzy normed space, AIP Conference Proceedings, 2282, 020006-1-020006-12.
- [33] A. Wilansky, Modern methods in topological vector space, McGraw-Hill International Book Co., New York, 1978.

¹Department of Mathematics, R.M.K. Engineering College, Kavaraipettai - 601 206, Tamil Nadu, India.

Email address: karthik.sma204@yahoo.com

 $^2\mathrm{Research}$ Institute for Natural Sciences, Hanyang University, Seoul 04763, Korea.

Email address: baak@hanyang.ac.kr

³PEDAGOGICAL DEPARTMENT E.E., SECTION OF MATHEMATICS AND INFORMATICS, NA-TIONAL AND CAPODISTRIAN UNIVERSITY OF ATHENS, 4, AGAMEMNONOS STR., AGHIA PARASKEVI, ATHENS 15342, GREECE.

Email address: jrassias@primedu.uoa.gr